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HAf (C)
A 0.70 38, 400. 00 26, 880
EHARE FHIEEDY
% 1.50 99, 820. 00 1,497
=) it 1YE%HEH - 1.00K 101, 317. 00 101, 317
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THeFETHBEER(LEMR) L ERHEF KD

H5 43
4 g K - BT B4 = fifl * & # w %
B (B)
A 1.00 47, 200. 00 47,200
AR (C)
A 0.90 38, 400. 00 34, 560
EHERARE FHEEDY
% 1.50 81, 760. 00 1,226
& it 1YEZHEH - 1.00K 82, 986. 00 82, 986
BHE 44
2 . BEREOER 15y
& g K - BT BfL = fifl * & # i %
B (B)
A 1.00 47, 200. 00 47,200
AR (C)
A 0.90 38, 400. 00 34, 560
EHERARE FHEEDY
% 3.00 81, 760. 00 2,452
& it 1YE%HEH - 1.00K 84,212.00 84,212
HS 45
LR RERERMEN IE=P)
4 g K - BT B4 = fifl * & # w %
FEHERAR (BEH
A 1. 40 64, 800. 00 90, 720
A (A)
A 3.30 57, 000. 00 188, 100
B (B)
A 2.80 47, 200. 00 132,160
AR (C)
A 1.90 38, 400. 00 72,960
B8
A 1.90 33, 600. 00 63, 840
Mo LERED%
% 3.00 547, 780. 00 16, 433
=) B 1YE%HEH - 1.00K 564, 213. 00 564, 213
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THeFETHBEER(LEMR) L ERHEF KD

HS . 46
B REMENT 1%y
£ 7 R - KT BARL 2 BO(f € # B &
F1EBER GEED
A 2.60 64, 800. 00 168, 480
AR (A)
A 2.60 57, 000. 00 148, 200
AR (B)
A 2.60 47, 200. 00 122,720
HAf (C)
A 4. 60 38, 400. 00 176, 640
MAH LEE D%
% 1.00 616, 040. 00 6, 160
= g YEZERED 1. 00X 622, 200. 00 622, 200
&H5 41
L : PSIRERRMT TmZ Y (100m)
£ 7 R - KT BARL 2 BO(f € # B &
F1EBER GEED
A 6. 00 64, 800. 00 388, 800
AR (A)
A 4.50 57, 000. 00 256, 500
HAf (C)
A 5.00 38, 400. 00 192, 000
Hti&
A 3.50 33, 600. 00 117, 600
EHARE LEREt D%
% 1.00 954, 900. 00 9, 549
= it EZ£EEH : 100. 00m 9, 644. 00 964, 449
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